
1) 74 x (-34)

Answer: ____________

2) 8380 + (-5782)

Answer: ____________

3) (-1001) - 1249

Answer: ____________

4) (-28) x 33

Answer: ____________

5) (-3024) ÷ (-36)

Answer: ____________

6) 6176 + (-2491)

Answer: ____________

7) (-5462) - (-10000)

Answer: ____________

8) (-210) ÷ 42

Answer: ____________

9) (-5342) - (-2606)

Answer: ____________

10) (-53) x (-32)

Answer: ____________

Total: ___ / 10
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Answers:

1) 2) 2598 3) -2250 4) 5) 84 6) 3685 7) 4538

8) -5 9) -2736 10)

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

July 19, 2018

Sr: 19072018-481
 

http://www.geekschool.co.uk

